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1 100kN/m%i#BZ2%| 100|000 ~ 087 11306 |3mEBZZ| — ~ — — | 100kN/mM%#BZ5| 1.00 | 11.51 ~ 1500 113.06 |3mZ#z5 -~ — — —
ZTh s 1.00 | 087 ~ 866 100.00 | =ns5t | 000 ~ 866|217 11.61 Zh s 1.00 | 5.00 ~ 1151 100.00 | =ndS | 5,00 ~ 1500)|2.17 11.61
2 100kN/m#%§EZ5| 1.00| 000 ~ 044 106.55 |3mEBZBH| — ~ — — — | 100kN/mM#%#BZ5B| 1.00 | 1054 ~ 11.75| 106.55 |3mEBZ5 -~ — — —
Zh s 1.00 | 044 ~ 823 100.00 | =hst | 000 ~ 823|221 11.83 Zh s 1.00 | 5.00 ~ 1054 100.00 | =hdH | 6.00 ~ 11.75| 2.21 11.83
3 100kN/m#%#Bz5| 100000 ~ 083 11236 |3mZEEZB| — ~ — — — | 100kN/ % x5 | 1.00 | 1086 ~ 1361 112.36 |3m%&HEAS -~ — — —
Zh s 1.00 | 083 ~ 861 100.00 | =ns5t | 000 ~ 861|207 11.08 Zh s 1.00 | 5.00 ~ 1086 100.00 | =ndS | 5,00 ~ 1361 2.07 11.08
4 100kN/m#%#Bz5| 100|000 ~ 016 10231 |3mZEEZB| — ~ — — — | 100kN/m#%#BZ5| 1.00 | 10.77 ~ 11.22| 10231 |3mZE#BZ5 -~ — — —
Zh s 1.00 016 ~ 794 100.00 | =05 | 000 ~ 794|209 11.16 Zh s 1.00 | 5.00 ~ 1077 100.00 | =hdH | 5.00 ~ 1122 2.09 11.16
5 100kN/m%i#BZ2%| 100|000 ~ 097 11460 |3mEBZZ| — ~ — — — | 100kN/mM%EHBZB | 1.00 | 1054 ~ 1350 114.60 |3mE#BZ5 -~ — — —
ZTh s 1.00 | 097 ~ 876 100.00 | =nst (000 ~ 876|217 11.61 Zh s 1.00 | 5.00 ~ 1054 100.00 | =ndS | .00 ~ 1350|217 11.61
P 100kN/m%i#B2%| 100|000 ~ 087 11301 |3mZEBZZ| — ~ — — — | 100kN/m%#BZ5 | 1.00 | 1056 ~ 1320 113.01 |3mZE#BZ3 -~ — — —
ZTh s 1.00 | 087 ~ 865 100.00 | =nLS | 000 ~ 865|215 11.50 Zh st 1.00 | 5.00 ~ 1056 100.00 | =hdH | 5.00 ~ 1320|215 11.50
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEHBZD ~
ThLlst ~ Zh st ~ ZhLlst ~ Zh st ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#&#BZ % ~ ImEHBZD ~
ZhLst ~ Zh st ~ ZhLst ~ Zh st ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEHBZD ~
ThLst ~ Zh st ~ ZhLst ~ Zh st ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#&#kBZ % ~ ImEHBZD ~
ThLst ~ Zh st ~ ZhLst ~ Zh st ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#&#BZ % ~ ImEHBZD ~
ZhLst ~ Zh st ~ ZhLst ~ Zh st ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#&#kBZ % ~ ImEHBZD ~
ZhLst ~ Zh st ~ ZhLst ~ Zh st ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEHBZD ~
ZhLst ~ Zh st ~ ZhLst ~ Zh st ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#kBZ % ~ ImEHBZD ~
ThLst ~ Zh st ~ ZhLst ~ Zh st ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#&#kBZ % ~ ImEHBZD ~
Th st ~ Zhs ~ Th st ~ Zhs ~




